ORD. NO. 14-6

BID OPENING DATE: TUESDAY, MARCH 18, 2014

			T .		I						DEDDIN ACRUALT COMPANY				
					ENGINEERS	ESTIMATE	CATTS CONSTRUCTION, INCwithrew bid			PERRIN ASPHALT COMPANY					
								15700 Brookpark Road			525 Dan Street				
								Brookpark, Ohio 44135			Akron, Ohio 44310				
							(4	40) 238-4394-0	Office • (888) 65	7-6506	(330) 253-1020-Office ● (330) 253-1042				
ITEM	REF	ITEM	ITEM												
NO.	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	
1	107	Remove and Replace Mail Box	1.00	EACH	\$150.00	\$150.00	\$140.00	\$200.00	\$340.00	\$340.00	\$120.00	\$30.00	\$150.00	\$150.00	
2	201	Clearing and Grubbing, including trees up to 12" diameter	1.00	LS	\$2,500.00	\$2,500.00	\$1,840.00	\$1,000.00	\$2,840.00	\$2,840.00	\$1,470.00	\$0.00	\$1,470.00	\$1,470.00	
3		Full Depth Ridgid Pavement Removal and Flexible Replacement	146.00	SY	\$150.00	\$21,900.00	\$26.00	\$29.00	\$55.00	\$8,030.00	\$100.00	\$35.00	\$135.00	\$19,710.00	
4	254	Cold Planing of Ridgid Concrete Pavement, 7' wide, 0"-2"	1,685.00	SY	\$5.00	\$8,425.00	\$3.00	\$3.25	\$6.25	\$10,531.25	\$4.00	\$0.00	\$4.00	\$6,740.00	
5	255	Full Depth Concrete Joint Replacement-See Specifications, Page 2-4	1,213.00	SY	\$90.00	\$109,170.00	\$40.00	\$36.50	\$76.50	\$92,794.50	\$61.45	\$34.55	\$96.00	\$116,448.00	
		Remove and Replace Street Sections with 7" Thick Reinforced Concrete;													
		Type S High Early, including all Topsoil, Seeding and Mulching and													
6	255	Watering	1,120.00	SY	\$65.00	\$72,800.00	\$30.00	\$24.50	\$54.50	\$61,040.00	\$57.30	\$28.70	\$86.00	\$96,320.00	
7	423	Crack Sealing, Type I, or approved equal	2,450.00	LF	\$1.50	\$3,675.00	\$0.50	\$0.65	\$1.15	\$2,817.50	\$1.50	\$1.50	\$3.00	\$7,350.00	
8	448	Asphalt Type I, Intermediate (Medium) PG 64-22	40.00	CY	\$175.00	\$7,000.00	\$135.00	\$200.00	\$335.00	\$13,400.00	\$80.00	\$130.00	\$210.00	\$8,400.00	
9	448	Asphalt Type I, Surface (Medium) PG 64-22	117.00	CY	\$175.00	\$20,475.00	\$100.00	\$109.00	\$209.00	\$24,453.00	\$80.00	\$130.00	\$210.00	\$24,570.00	
		Removal of 4" Reinforced Concrete or Brick Sidewalk and Replaced with													
		4" Reinforced Concrete at Various Locations. To include 3" of 304													
		Limestone Bases and #10 wire mesh, also to include topsoil, seeding and													
10	608	mulching and watering	1,000.00	SF	\$7.00	\$7,000.00	\$3.50	\$3.50	\$7.00	\$7,000.00	\$4.90	\$2.10	\$7.00	\$7,000.00	
		New 5' Concrete sidewalk installed, including excavation with 3" of 304													
11	608	limestone and wire	273.00	SF	\$7.00	\$1,911.00	\$3.50	\$3.00	\$6.50	\$1,774.50	\$5.25	\$2.00	\$7.25	\$1,979.25	
		Handicap Ramps, Complete in Place, including sawcutting and ADA													
12	608	Truncated Domes (inserts)	7.00	EACH	\$500.00	\$3,500.00	\$350.00	\$350.00	\$700.00	\$4,900.00	\$150.00	\$150.00	\$300.00	\$2,100.00	
13	608	6" Reinforced Stamped Concrete	525.00	SF	\$11.00	\$5,775.00	\$4.00	\$4.00	\$8.00	\$4,200.00	\$6.05	\$4.60	\$10.65	\$5,591.25	
14	610	Retaining Wall	145.00	SF	\$35.00	\$5,075.00	\$21.00	\$21.00	\$42.00	\$6,090.00	\$23.10	\$18.90	\$42.00	\$6,090.00	
15	611	Manhole Adjust to Grade, no risers to be used	2.00	EACH	\$450.00	\$900.00	\$200.00	\$275.00	\$475.00	\$950.00	\$150.00	\$50.00	\$200.00	\$400.00	
16	614	Maintaining Traffic	1.00	LS	\$5,000.00	\$5,000.00	\$3,500.00	\$4,100.00	\$7,600.00	\$7,600.00	\$10,000.00	\$2,000.00	\$12,000.00	\$12,000.00	
17	623	Monument Box Adjust to Grade	7.00	EACH	\$400.00	\$2,800.00	\$250.00	\$200.00	\$450.00	\$3,150.00	\$125.00	\$50.00	\$175.00	\$1,225.00	
18	623	Construction Layout Staking (York Crosswalk)	1.00	EACH	\$1,200.00	\$1,200.00	\$250.00	\$250.00	\$500.00	\$500.00	\$400.00	\$50.00	\$450.00	\$450.00	
19	624	Moilization	1.00	LS	\$20,000.00	\$20,000.00	\$4,000.00	\$3,800.00	\$7,800.00	\$7,800.00	\$5,000.00	\$1,200.00	\$6,200.00	\$6,200.00	
20	624	Removal and Relocation of Sign, as directed	1.00	EACH	\$175.00	\$175.00	\$75.00	\$50.00	\$125.00	\$125.00	\$100.00	\$50.00	\$150.00	\$150.00	
21	630	Ground Mounted Support Post	64.50	LF	\$6.00	\$387.00	\$12.00	\$10.50	\$22.50	\$1,451.25	\$1.75	\$3.75	\$5.50	\$354.75	
22	630	Sign, Flat Sheet	23.25	SF	\$35.00	\$813.75	\$12.00	\$10.50	\$22.50	\$523.13	\$4.50	\$8.50	\$13.00	\$302.25	
23	642	Stop Bar, 24" Wide	13.00	LF	\$1.50	\$19.50	\$2.50	\$2.50	\$5.00	\$65.00	\$3.25	\$0.25	\$3.50	\$45.50	
24	642	Crosswalk, with or without, Transverse on 8' center, 12" wide, white	134.00	LF	\$2.00	\$268.00	\$2.00	\$2.00	\$4.00	\$536.00	\$2.25	\$0.25	\$2.50	\$335.00	
		Seeding and Mulching, including watering 6" topsoil, See Article 18, Page													
25	659	2-8 thru 2-9	150.00	SY	\$6.10	\$915.00	\$6.00	\$5.00	\$11.00	\$1,650.00	\$6.60	\$4.40	\$11.00	\$1,650.00	

### BID TABULATION, CITY OF HUDSON, OHIO

PROJECT NAME: 2014 CONCRETE REPLACEMENT PROGRAM

ORD. NO. 14-6

DIFFERENCE

**BID OPENING DATE: TUESDAY, MARCH 18, 2014** 

				ENGINEERS ESTIMATE			CATTS CONSTRUCTION, INCwithrew bid				PERRIN ASPHALT COMPANY				
							15700 Brookpark Road				525 Dan Street				
								Brookpark	, Ohio 44135						
							(44	0) 238-4394-Of	fice • (888) 657-i	5506	(:	330) 253-1020-	Office • (330) 253	-1042	
ITEM	REF	ITEM	ITEM												
NO.	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	LABOR	MATERIAL I	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	
26	661	Root Cutting, All Sidewalks	450.00	LF	\$3.00	\$1,350.00	\$2.75	\$0.00	\$2.75	\$1,237.50	\$2.50	\$0.00	\$2.50	\$1,125.00	
27	661	Planting Misc.: Street trees, as directed by the Engineer-2" Caliper	3.00	EACH	\$300.00	\$900.00	\$5.00	\$4.80	\$9.80	\$29.40	\$216.00	\$144.00	\$360.00	\$1,080.00	
28	SPCL	Pervious Pavers, Installed complete, per detailed specs	1,810.00	SF	\$19.00	\$34,390.00	\$7.00	\$7.25	\$14.25	\$25,792.50	\$10.95	\$8.40	\$19.35	\$35,023.50	
		Paving Mat, Glaspav 25 or approved equal, Installed complete per													
29	909	manufacturer's specifications	2,800.00	SY	\$3.50	\$9,800.00	\$2.00	\$1.40	\$3.40	\$9,520.00	\$0.85	\$2.45	\$3.30	\$9,240.00	
30	SPCL	Remove and Replace Curb-Northwest corner of SR 91 and SR 303	14.00	LF	\$125.00	\$1,750.00	\$40.00	\$26.00	\$66.00	\$924.00	\$148.00	\$20.00	\$168.00	\$2,352.00	
TOTAL CONTRACT PRICE						\$350,024.25				\$302,064.53				\$375,851.50	
CONTRA	CTORS	BID						\$301,299.53				\$375,851.50			

\$350,024.25 \*Multiplication Error Item #5

\$765.00

\$0.00

ORD. NO. 14-6

BID OPENING DATE: TUESDAY, MARCH 18, 2014

						DEDY CO	NADANY INC		
					PERK COMPANY, INC. 8100 Grand Avenue, Suite 300				
						)			
					(21	6) 391-1444-C	Office • (216) 391-	2233	
ITEM	REF	ITEM	ITEM						
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL	
1	107	Remove and Replace Mail Box	1.00	EACH	\$250.00	\$100.00	\$350.00	\$350.00	
2	201	Clearing and Grubbing, including trees up to 12" diameter	1.00	LS	\$2,490.00	\$10.00	\$2,500.00	\$2,500.00	
3	252	Full Depth Ridgid Pavement Removal and Flexible Replacement	146.00	SY	\$70.00	\$50.00	\$120.00	\$17,520.00	
4	254	Cold Planing of Ridgid Concrete Pavement, 7' wide, 0"-2"	1,685.00	SY	\$5.40	\$0.10	\$5.50	\$9,267.50	
5	255	Full Depth Concrete Joint Replacement-See Specifications, Page 2-4	1,213.00	SY	\$85.00	\$60.00	\$145.00	\$175,885.00	
		Remove and Replace Street Sections with 7" Thick Reinforced Concrete;							
		Type S High Early, including all Topsoil, Seeding and Mulching and							
6	255	Watering	1,120.00	SY	\$45.00	\$50.00	\$95.00	\$106,400.00	
7	423	Crack Sealing, Type I, or approved equal	2,450.00	LF	\$0.50	\$0.50	\$1.00	\$2,450.00	
8	448	Asphalt Type I, Intermediate (Medium) PG 64-22	40.00	CY	\$260.00	\$100.00	\$360.00	\$14,400.00	
9	448	Asphalt Type I, Surface (Medium) PG 64-22	117.00	CY	\$125.00	\$100.00	\$225.00	\$26,325.00	
		Removal of 4" Reinforced Concrete or Brick Sidewalk and Replaced with							
		4" Reinforced Concrete at Various Locations. To include 3" of 304							
		Limestone Bases and #10 wire mesh, also to include topsoil, seeding and							
10	608	mulching and watering	1,000.00	SF	\$5.00	\$2.50	\$7.50	\$7,500.00	
		New 5' Concrete sidewalk installed, including excavation with 3" of 304							
11	608	limestone and wire	273.00	SF	\$5.00	\$2.50	\$7.50	\$2,047.50	
		Handicap Ramps, Complete in Place, including sawcutting and ADA							
12	608	Truncated Domes (inserts)	7.00	EACH	\$1,900.00	\$300.00	\$2,200.00	\$15,400.00	
13	608	6" Reinforced Stamped Concrete	525.00	SF	\$12.00	\$5.00	\$17.00	\$8,925.00	
14	610	Retaining Wall	145.00	SF	\$15.00	\$70.00	\$85.00	\$12,325.00	
15	611	Manhole Adjust to Grade, no risers to be used	2.00	EACH	\$650.00	\$100.00	\$750.00	\$1,500.00	
16	614	Maintaining Traffic	1.00	LS	\$9,000.00	\$1,000.00	\$10,000.00	\$10,000.00	
17	623	Monument Box Adjust to Grade	7.00	EACH	\$600.00	\$100.00	\$700.00	\$4,900.00	
18	623	Construction Layout Staking (York Crosswalk)	1.00	EACH	\$2,400.00	\$100.00	\$2,500.00	\$2,500.00	
19	624	Moilization	1.00	LS	\$4,900.00	\$100.00	\$5,000.00	\$5,000.00	
20	624	Removal and Relocation of Sign, as directed	1.00	EACH	\$290.00	\$10.00	\$300.00	\$300.00	
21	630	Ground Mounted Support Post	64.50	LF	\$4.00	\$6.00	\$10.00	\$645.00	
22	630	Sign, Flat Sheet	23.25	SF	\$5.00	\$15.00	\$20.00	\$465.00	
23	642	Stop Bar, 24" Wide	13.00	LF	\$3.00	\$3.00	\$6.00	\$78.00	
24	642	Crosswalk, with or without, Transverse on 8' center, 12" wide, white	134.00	LF	\$10.00	\$2.00	\$12.00	\$1,608.00	
		Seeding and Mulching, including watering 6" topsoil, See Article 18, Page							
25	659	2-8 thru 2-9	150.00	SY	\$5.00	\$5.00	\$10.00	\$1,500.00	



#### BID TABULATION, CITY OF HUDSON, OHIO

PROJECT NAME: 2014 CONCRETE REPLACEMENT PROGRAM

ORD. NO. 14-6

**BID OPENING DATE: TUESDAY, MARCH 18, 2014** 

					(21	8100 Grand Clevelan	OMPANY, INC. Avenue, Suite 300 d, Ohio 44104 Office • (216) 391-	
ITEM	REF	ITEM	ITEM					
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL
26	661	Root Cutting, All Sidewalks	450.00	LF	\$19.00	\$1.00	\$20.00	\$9,000.00
27	661	Planting Misc.: Street trees, as directed by the Engineer-2" Caliper	3.00	EACH	\$110.00	\$150.00	\$260.00	\$780.00
28	SPCL	Pervious Pavers, Installed complete, per detailed specs	1,810.00	SF	\$9.50	\$12.00	\$21.50	\$38,915.00
		Paving Mat, Glaspav 25 or approved equal, Installed complete per						
29	909	manufacturer's specifications	2,800.00	SY	\$1.00	\$2.00	\$3.00	\$8,400.00
30	SPCL	Remove and Replace Curb-Northwest corner of SR 91 and SR 303	14.00	LF	\$49.00	\$6.00	\$55.00	\$770.00
TOTAL	CONTRA	CT PRICE					\$487,656.00	
661170	1 OTO D.C		· ·				•	A400 006 00

CONTRACTORS BID \$488,306.00 (\$650.00)

DIFFERENCE \*Math Errors Item #7 and Item #27

ORD. NO. 14-6

BID OPENING DATE: TUESDAY, MARCH 18, 2014

ALTERNATE BID    Fig.					51,011,5550					•		252211.40		_	
## 1550   February   Fig.   Fi			ALTEDNIATE DID			ENGINEERS	ESTIMATE	CAT			rew bid				
## PROFESSION CHITING		ı	ALIERINATE DID												
No.   No.   OCCUPATION   OCCU								,.	· · · · · · · · · · · · · · · · · · ·		croc	1.		•	1012
NO.   NO.   OSCAPITION   OST   UNIT PROCE   TOTAL   SERVING   SE								(4	4U) 238-4394-U	mice • (888) 657	-6506	(:	330) 253-1020-0	Office ● (330) 253	-1042
NO.   NO.   OSCAPITION   OST   UNIT PROCE   TOTAL   SERVING   SE															
33   202   Tull Peptih sex Cutting	ITEM														
32   222   Perment Removal   150,000   5F   510,000   55,000   5				-											
32   202   Remove biliting Carch Bain   1.00   EACH   \$300.00   \$300.00   \$300.00   \$300.00   \$300.00   \$300.00   \$300.00   \$310.00	-		· · · · · · · · · · · · · · · · · · ·				·		· · · · · · · · · · · · · · · · · · ·		·	· · · · · · · · · · · · · · · · · · ·			
34   254   Cold Planing of Highly Concrete Investment, Y wide, 0"2"   7,685,00   57,000   57,000   58,000   53,000   5				ł		·	·			-	·				
\$5   See   Javement Planing Brummous having thickness   18000   \$7   \$2.00   \$3200	33		_				-	*			*	-			
35									•			•			
Semove and legitace Street Sociolne with 7" Thick Relinforced Concrete; 1,027.00   SY   \$85.00   \$67,400.00   \$30.00   \$24.50   \$56.50   \$92.30   \$49.70   \$142.00   \$147,254.00   \$12	35	254	Pavement Planing, Bituminous (varying thickness)	180.00	SY	\$2.00	\$360.00	\$12.00	\$12.00	\$24.00	\$4,320.00	\$20.00	\$0.00	\$20.00	\$3,600.00
25   Type S High Early, including Topsoil, Seeding and Mulching and Watering   1,037.00   SY   \$50.00   \$57,000.00   \$34.00   \$24.50   \$56,50   \$56,50   \$59,230   \$59,70   \$142.00   \$547,254.00   \$38.20   \$38.00   \$44	36	255	Full Depth Concrete Joint Replacement-See Spec Page 2-4	504.00	SY	\$90.00	\$45,360.00	\$40.00	\$36.50	\$76.50	\$38,556.00	\$104.00	\$56.00	\$160.00	\$80,640.00
25   Type S High Early, including Topsoil, Seeding and Mulching and Watering   1,037.00   SY   \$50.00   \$57,000.00   \$34.00   \$24.50   \$56,50   \$56,50   \$59,230   \$59,70   \$142.00   \$547,254.00   \$38.20   \$38.00   \$44															
Street Number   Street   Str			Remove and Replace Street Ssections with 7" Thick Reiinforced Concrete;												
38   255   Limestone	37	255	Type S High Early, including Topsoil, Seeding and Mulching and Watering	1,037.00	SY	\$65.00	\$67,405.00	\$30.00	\$24.50	\$54.50	\$56,516.50	\$92.30	\$49.70	\$142.00	\$147,254.00
39   448   Asphalt Type  , Intermediate medium) PC 64-22   74,00   CY   \$175.00   \$132,00   \$20,000   \$110,00   \$310,00   \$22,000   \$150,00   \$130,00   \$280,00   \$200,00   \$2			8" Reinforced Concrete Drive Apron to include Wire and 3" of 304												
448   Asphalt Type I. Surface (medium) PG 64-22   230.00   CY   \$175.00   \$40,250.00   \$150.00   \$50.00   \$200.00   \$46,000.00   \$120.00   \$130.00   \$250.00   \$57,500.00   \$40,000.00   \$120.00   \$130.00   \$250.00   \$57,500.00   \$40,000.00   \$120.00   \$130.00   \$250.00   \$200.00   \$3,000.00	38	255	Limestone	14.00	SY	\$100.00	\$1,400.00	\$4.00	\$4.50	\$8.50	\$119.00	\$85.00	\$40.00	\$125.00	\$1,750.00
Non-Reinforced Concrete Work, including 3" of 304 Limestone, as   16.00   CY   \$200.00   \$3,200.00   \$150.00   \$250.00   \$4,000.00   \$120.00   \$240.00   \$3,840.00   \$3,840.00   \$6,000   \$10,000   \$200.00   \$200.00   \$240.00   \$240.00   \$3,840.00   \$3,840.00   \$4,000.0	39	448	Asphalt Type I, Intermediate (medium) PG 64-22	74.00	CY	\$175.00	\$12,950.00	\$200.00	\$110.00	\$310.00	\$22,940.00	\$150.00	\$130.00	\$280.00	\$20,720.00
41   602   directed   602   directed   603   directed   600   61500	40	448	Asphalt Type I, Surface (medium) PG 64-22	230.00	CY	\$175.00	\$40,250.00	\$150.00	\$50.00	\$200.00	\$46,000.00	\$120.00	\$130.00	\$250.00	\$57,500.00
6"SDR 35 PVC Perforated and Non-Perforated for Underdrain. Includes Excavation with #57 Limestone and Backfill per City of Hudson  40 000 LF \$12.00 \$4,800.00 \$5.00 \$6.00 \$11.00 \$4,400.00 \$8.00 \$12.00 \$4,800.00 \$4,000.00 \$4,000			Non-Reinforced Concrete Work, including 3" of 304 Limestone, as												
Excavation with #57 Limestone and Backfill per City of Hudson  Rew 5C Concrete Sidewalk, installed, including Excavation with 3" of 304  ## A 608 Limestone and Wire  ## A 609 Limestone and W	41	602	directed	16.00	CY	\$200.00	\$3,200.00	\$150.00	\$100.00	\$250.00	\$4,000.00	\$120.00	\$120.00	\$240.00	\$3,840.00
42 605 Engineering Standards 400.00 LF \$12.00 \$4,800.00 \$55.00 \$6.00 \$11.00 \$4,400.00 \$8.00 \$4.00 \$12.00 \$4,800.00 \$			6" SDR 35 PVC Perforated and Non-Perforated for Underdrain. Includes				•				·				
42 605 Engineering Standards 400.00 LF \$12.00 \$4,800.00 \$55.00 \$6.00 \$11.00 \$4,400.00 \$8.00 \$4.00 \$12.00 \$4,800.00 \$			Excavation with #57 Limestone and Backfill per City of Hudson												
New 5' Concrete Sidewalk, installed, including Excavation with 3" of 304   20.00   SF   \$7.00   \$14.00   \$4.00   \$4.00   \$8.00   \$160.00   \$22.00   \$3.00   \$52.00   \$500.00	42	605	l ' '	400.00	LF	\$12.00	\$4,800.00	\$5.00	\$6.00	\$11.00	\$4,400.00	\$8.00	\$4.00	\$12.00	\$4,800.00
43   608   timestone and Wire   20.00   SF   \$7.00   \$140.00   \$4.00   \$4.00   \$8.00   \$160.00   \$22.00   \$3.00   \$25.00   \$500.00   \$500.00   \$400.00   \$22.00   \$3.00   \$25.00   \$500.00   \$500.00   \$400.00   \$22.00   \$3.00   \$25.00   \$500.00   \$500.00   \$600.00							. ,		· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		·	·	·	. ,
Handicap Ramps, Complete in Place, including saw cutting and ADA 4 608 Truncated Domes (inserts) 5 09 Type 6 Concrete Curb, including Excavation and 3" of 304 Limestone 4 00,00	43	608	_	20.00	SF	\$7.00	\$140.00	\$4.00	\$4.00	\$8.00	\$160.00	\$22.00	\$3.00	\$25.00	\$500.00
44 608 Truncated Domes (inserts)  1.00 EACH \$500.00 \$500.00 \$350.00 \$350.00 \$700.00 \$700.00 \$400.00 \$250.00 \$650.00 \$650.00 \$650.00 \$650.00 \$45 609 Type 6 Concrete Curb, including Excavation and 3" of 304 Limestone 400.00 LF \$20.00 \$8,000.00 \$15.00 \$240.00 \$29.00 \$11,600.00 \$20.00 \$10.00 \$30.00 \$12,000.00 \$40			Handicap Ramps, Complete in Place, including saw cutting and ADA			,	, , , , , , , , , , , , , , , , , , , ,	,		,	,	,	,		,
45 609 Type 6 Concrete Curb, including Excavation and 3" of 304 Limestone 400.00 LF \$20.00 \$8,000.00 \$15.00 \$14.00 \$29.00 \$11,600.00 \$20.00 \$10.00 \$30.00 \$12,000.00 \$475.00 \$20.00 \$475.00 \$20.00 \$475.00 \$20.00 \$475.00 \$20.00 \$475.00 \$20.00 \$475.00 \$20.00 \$475.00 \$42.50.00 \$475.00 \$42.50.00 \$475.00 \$42.50.00 \$475.00 \$475.00 \$42.50.00 \$475.00	44	608		1.00	FACH	\$500.00	\$500.00	\$350.00	\$350.00	\$700.00	\$700.00	\$400.00	\$250.00	\$650.00	\$650.00
46 611 Manhole Adjust to Grade, no risers to be used 5.00 EACH \$450.00 \$2,250.00 \$275.00 \$200.00 \$475.00 \$2,375.00 \$650.00 \$200.00 \$850.00 \$4,200.00 \$4,200.	-							•						-	
47 611 Catch Basin Adjust to Grade, no risers to be used  Catch Basin No. 3, APP, installed complete with M6 Grate and 57  48 611 Limestone Bedding  1.00 EACH \$3,500.00 \$3,500.00 \$1,500.00 \$3,000.00 \$3,000.00 \$3,000.00 \$2,200.00 \$1,300.00 \$3,500.				ł							·				
Catch Basin No. 3, APP, installed complete with M6 Grate and 57  48 611 Limestone Bedding  1.00 EACH \$3,500.00 \$3,500.00 \$1,500.00 \$3,000.00 \$3,000.00 \$2,200.00 \$1,300.00 \$3,50	-		•					-							
48 611 Limestone Bedding 1.00 EACH \$3,500.00 \$3,500.00 \$1,500.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,500.00 \$	.,	011		2.00	2,1011	φ 100.00	φοσοίσσ	φ300.00	φ200.00	φ300.00	ψ1,000.00	Ψοσο.σο	Ψ130.00	ψ,30.00	Ψ2)300.00
49         611         Core Drill into Existing Catch Basin for Underdrain         2.00         EACH         \$100.00         \$200.00         \$50.00         \$100.00         \$200.00         \$300.00         \$50.00         \$350.00         \$700.00           50         611         12" Conduit, installed with #57 Limestone Bedding         10.00         LF         \$50.00         \$50.00         \$30.00         \$600.00         \$600.00         \$25.00         \$85.00         \$850.00           51         623         Monument Box Adjust to Grade         7.00         EACH         \$400.00         \$2,800.00         \$200.00         \$450.00         \$3,150.00         \$300.00         \$100.00         \$400.00         \$2,800.00           52         623         Construction Layout Staking (Darrow Road Curb)         1.00         EACH         \$1,200.00         \$1,200.00         \$100.00         \$250.00         \$250.00         \$300.00         \$100.00         \$2,800.00           Seeding and Muclhing, including watering, 6" topsoil, See Article 18, Page         140.00         SY         \$6.10         \$854.00         \$6.00         \$12.00         \$1,680.00         \$6.00         \$5.50         \$11.50         \$1,610.00           Faying Mat, Glaspav 25 or approved equal, installed complete per         Manufacuturer's specifications         \$23	48	611	•	1.00	FACH	\$3,500,00	\$3,500,00	\$1 500 00	\$1,500,00	\$3,000,00	\$3,000,00	\$2,200,00	\$1 300 00	\$3,500,00	\$3 500 00
50 611 12" Conduit, installed with #57 Limestone Bedding 10.00 LF \$50.00 \$50.00 \$50.00 \$30.00 \$30.00 \$60.00 \$60.00 \$25.00 \$85.00 \$850.00 \$30.00 \$30.00 \$30.00 \$30.00 \$60.00 \$25.00 \$85.00 \$85.00 \$850.00 \$30.			-			1 1		-							
51         623         Monument Box Adjust to Grade         7.00         EACH         \$400.00         \$2,800.00         \$250.00         \$450.00         \$3,150.00         \$300.00         \$400.00         \$2,800.00           52         623         Construction Layout Staking (Darrow Road Curb)         1.00         EACH         \$1,200.00         \$1,200.00         \$150.00         \$250.00         \$500.00         \$50.00         \$650.00           Seeding and Muclhing, including watering, 6" topsoil, See Article 18, Page         140.00         SY         \$6.10         \$854.00         \$6.00         \$12.00         \$1,680.00         \$6.00         \$5.50         \$11.50         \$1,610.00           Faving Mat, Glaspav 25 or approved equal, installed complete per Manufacuturer's specifications         5,215.00         SY         \$4.00         \$20,860.00         \$2.50         \$3.50         \$6.00         \$0.95         \$2.85         \$3.80         \$19,817.00           TOTAL CONTRACT PRICE         \$233,434.00         \$233,434.00         \$252,327.75         \$388,741.00			-											-	
52         623         Construction Layout Staking (Darrow Road Curb)         1.00         EACH         \$1,200.00         \$100.00         \$150.00         \$250.00         \$600.00         \$50.00         \$650.00         \$650.00           53         659         2-8         140.00         SY         \$6.10         \$854.00         \$6.00         \$12.00         \$1,680.00         \$6.00         \$5.50         \$11.50         \$1,610.00           54         909         Manufacuturer's specifications         5,215.00         SY         \$4.00         \$20,860.00         \$2.50         \$3.50         \$6.00         \$31,290.00         \$0.95         \$2.85         \$3.80         \$19,817.00           TOTAL CONTRACT PRICE         \$233,434.00         \$233,434.00         \$250.00         \$250.00         \$250.00         \$600.00         \$50.00         \$50.00         \$50.00         \$11.50         \$1,610.00			·	ł											
Seeding and Muclhing, including watering, 6" topsoil, See Article 18, Page   140.00   SY   \$6.10   \$854.00   \$6.00   \$12.00   \$1,680.00   \$6.00   \$5.50   \$11.50   \$1,610.00			-												
53       659       2-8       140.00       SY       \$6.10       \$854.00       \$6.00       \$12.00       \$1,680.00       \$6.00       \$5.50       \$11.50       \$1,610.00         Paving Mat, Glaspav 25 or approved equal, installed complete per         54       909       Manufacuturer's specifications       5,215.00       SY       \$4.00       \$20,860.00       \$2.50       \$3.50       \$6.00       \$31,290.00       \$0.95       \$2.85       \$3.80       \$19,817.00         TOTAL CONTRACT PRICE       \$233,434.00       \$233,434.00       \$252,327.75       \$388,741.00	32	023		1.00	LACII	γ1,200.00	71,200.00	\$100.00	7130.00	7230.00	Ş230.00	7000.00	00.00	<del>7030.00</del>	Ş030.00 
Paving Mat, Glaspav 25 or approved equal, installed complete per Manufacuturer's specifications 5,215.00 SY \$4.00 \$20,860.00 \$2.50 \$3.50 \$6.00 \$31,290.00 \$0.95 \$2.85 \$3.80 \$19,817.00 \$100 \$100 \$100 \$100 \$100 \$100 \$100 \$	52	650		140.00	cv	¢£ 10	\$8E4.00	\$6.00	\$6.00	\$12.00	¢1 600 00	\$6.00	¢E EO	¢11 E0	\$1 610 00
54       909       Manufacuturer's specifications       5,215.00       SY       \$4.00       \$20,860.00       \$2.50       \$3.50       \$6.00       \$31,290.00       \$0.95       \$2.85       \$3.80       \$19,817.00         TOTAL CONTRACT PRICE       \$233,434.00       \$233,434.00       \$252,327.75       \$388,741.00	33	039		140.00	31	30.10	λο <b>24.00</b>	30.00	λ0.00	<b>312.00</b>	\$1,000.00	\$0.00	<b>35.5</b> 0	\$11.2U	\$1,010.00
TOTAL CONTRACT PRICE \$233,434.00 \$252,327.75 \$388,741.00	ΕΛ	000		E 21E 00	cv	¢4.00	\$20,960,00	Ć2 EO	¢2 E0	¢6.00	\$21,200,00	¢n nr	င်၁ ဝင	¢2 00	¢10 017 00
	54	309	international 3 Specifications	3,215.00	31	Ş4.UU	\$ <b>2</b> 0,000.00	\$2.50	\$5.50	00.00	\$51,290.00	\$0.95	\$2.85	<b>35.8</b> 0	\$15,617.00
	TOTAL		CT DDICE		\$222 424 00				\$252 227 75				\$200 741 00		
AARA AAR ==						3235,434.UU									

 CONTRACTORS BID
 \$252,327.75
 \$388,741.00

 DIFFERENCE
 \$233,434.00
 \$0.00
 \$0.00

ORD. NO. 14-6

BID OPENING DATE: TUESDAY, MARCH 18, 2014

						PERK CO	OMPANY, INC.	
		ALTERNATE BID				8100 Grand	Avenue, Suite 30	0
						Clevelar	nd, Ohio 44104	
					(2	-2233		
ITEM	REF	ITEM	ITEM					
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL
31	202	Full Depth Saw Cutting	440.00	LF	\$2.90	\$0.10	\$3.00	\$1,320.00
32	202	Pavement Removal	150.00	SF	\$5.90	\$0.10	\$6.00	\$900.00
33	202	Remove Exisitng Catch Basin	1.00	EACH	\$990.00	\$10.00	\$1,000.00	\$1,000.00
34	254	Cold Planing of Ridgid Concrete Pavement, 7' wide, 0"-2"	2,685.00	SY	\$4.40	\$0.10	\$4.50	\$12,082.50
35	254	Pavement Planing, Bituminous (varying thickness)	180.00	SY	\$19.90	\$0.10	\$20.00	\$3,600.00
36	255	Full Depth Concrete Joint Replacement-See Spec Page 2-4	504.00	SY	\$85.00	\$60.00	\$145.00	\$73,080.00
30	233	Tull beptil concrete Joint Replacement-See Spec Lage 2-4	304.00	31	\$65.00	\$00.00	\$143.00	\$75,080.00
		Remove and Replace Street Ssections with 7" Thick Reiinforced Concrete;						
37	255	Type S High Early, including Topsoil, Seeding and Mulching and Watering	1,037.00	SY	\$45.00	\$50.00	\$95.00	\$98,515.00
37	233	8" Reinforced Concrete Drive Apron to include Wire and 3" of 304	1,037.00	31	\$45.00	\$30.00	\$33.00	\$30,313.00
38	255	Limestone	14.00	SY	\$60.00	\$40.00	\$100.00	\$1,400.00
39	448	Asphalt Type I, Intermediate (medium) PG 64-22	74.00	CY	\$245.00	\$100.00	\$345.00	\$25,530.00
40		Asphalt Type I, Surface (medium) PG 64-22		CY	-			
40	448		230.00	CY	\$125.00	\$100.00	\$225.00	\$51,750.00
4.4	602	Non-Reinforced Concrete Work, including 3" of 304 Limestone, as	46.00	6)/	¢200.00	Ć400.00	¢400.00	¢6,400,00
41	602	directed	16.00	CY	\$300.00	\$100.00	\$400.00	\$6,400.00
		6" SDR 35 PVC Perforated and Non-Perforated for Underdrain. Includes						
		Excavation with #57 Limestone and Backfill per City of Hudson						
42	605	Engineering Standards	400.00	LF	\$10.00	\$5.00	\$15.00	\$6,000.00
		New 5' Concrete Sidewalk, installed, including Excavation with 3" of 304						
43	608	Limestone and Wire	20.00	SF	\$12.50	\$5.00	\$17.50	\$350.00
		Handicap Ramps, Complete in Place, including saw cutting and ADA						
44	608	Truncated Domes (inserts)	1.00	EACH	\$2,500.00	\$300.00	\$2,800.00	\$2,800.00
45	609	Type 6 Concrete Curb, including Excavation and 3" of 304 Limestone	400.00	LF	\$30.00	\$9.00	\$39.00	\$15,600.00
46	611	Manhole Adjust to Grade, no risers to be used	5.00	EACH	\$650.00	\$100.00	\$750.00	\$3,750.00
47	611	Catch Basin Adjust to Grade, no risers to be used	2.00	EACH	\$650.00	\$100.00	\$750.00	\$1,500.00
		Catch Basin No. 3, APP, installed complete with M6 Grate and 57						
48	611	Limestone Bedding	1.00	EACH	\$2,500.00	\$1,000.00	\$3,500.00	\$3,500.00
49	611	Core Drill into Existing Catch Basin for Underdrain	2.00	EACH	\$250.00	\$10.00	\$260.00	\$520.00
50	611	12" Conduit, installed with #57 Limestone Bedding	10.00	LF	\$50.00	\$50.00	\$100.00	\$1,000.00
51	623	Monument Box Adjust to Grade	7.00	EACH	\$650.00	\$100.00	\$750.00	\$5,250.00
52	623	Construction Layout Staking (Darrow Road Curb)	1.00	EACH	\$750.00	\$50.00	\$800.00	\$800.00
		Seeding and Muclhing, including watering, 6" topsoil, See Article 18, Page						
53	659	2-8	140.00	SY	\$5.00	\$5.00	\$10.00	\$1,400.00
		Paving Mat, Glaspav 25 or approved equal, installed complete per			-			· ·
54	909	Manufacuturer's specifications	5,215.00	SY	\$1.30	\$2.00	\$3.30	\$17,209.50
				,	•			
TOTAL	CONTRA	ACT PRICE				\$335,257.00		
CONTRA						\$335,237.00		

CONTRACTORS BID \$335,337.00

DIFFERENCE \*Math Error Item # 49 (\$80.00)

